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General Marking Guidance

¢ All candidates must receive the same treatment. Examiners must mark
the first candidate in exactly the same way as they mark the last.

e Mark schemes should be applied positively. Candidates must be rewarded
for what they have shown they can do rather than penalised for omissions.

e Examiners should mark according to the mark scheme not according to
their perception of where the grade boundaries may lie.

e There is no ceiling on achievement. All marks on the mark scheme should
be used appropriately.

e All the marks on the mark scheme are designed to be awarded.
Examiners should always award full marks if deserved, i.e. if the answer
matches the mark scheme. Examiners should also be prepared to award
zero marks if the candidate’s response is not worthy of credit according to
the mark scheme.

e Where some judgement is required, mark schemes will provide the
principles by which marks will be awarded and exemplification may be
limited.

e When examiners are in doubt regarding the application of the mark
scheme to a candidate’s response, the team leader must be consulted.

e Crossed out work should be marked UNLESS the candidate has replaced
it with an alternative response.

Although the assessment objectives are weighted separately, they
are inter-related.

AO1l requires informed insight and awareness of differing
viewpoints, and AO2 requires knowledge and understanding of the
specification content.



Spelling, Punctuation and Grammar Marking Guidance

¢ The spelling, punctuation and grammar assessment criteria are common to
GCSE English Literature, GCSE History, GCSE Geography and GCSE Religious
Studies.

¢ All candidates, whichever subject they are being assessed on, must receive the
same treatment. Examiners must mark the first candidate in exactly the same
way as they mark the last.

¢ Spelling, punctuation and grammar marking criteria should be applied
positively. Candidates must be rewarded for what they have demonstrated
rather than penalised for errors.

¢ Examiners should mark according to the marking criteria. All marks on the
marking criteria should be used appropriately.

¢ All the marks on the marking criteria are designed to be awarded. Examiners
should always award full marks if deserved, i.e. if the answer matches the
marking criteria.

e Examiners should be prepared to award zero marks if the candidate’s response
is not worthy of credit according to the marking criteria.

¢ When examiners are in doubt regarding the application of the marking criteria
to a candidate’s response, the team leader must be consulted.

e Crossed out work should be marked unless the candidate has replaced it with
an alternative response.

¢ Handwriting may make it difficult to see if spelling, punctuation and grammar
are correct. Examiners must make every effort to assess spelling, punctuation
and grammar fairly and if they genuinely cannot make an assessment, the
team leader must be consulted.

e Specialist terms do not always require the use of complex terminology but the
vocabulary used should appropriate to the subject and the question.

¢ Work by candidates with an amanuensis, scribe or typed script should be
assessed for spelling, punctuation and grammar.

e Examiners are advised to consider the marking criteria in the following way:
o] How well does the response communicate the meaning?
o] What range of specialist terms is used?
o] How accurate is the spelling, punctuation and grammar?



Unit 16: Mark’s Gospel

e the rule of God in the
world

Any alternative
wording of the above
points is acceptable.
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Any alternative
wording of the above
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Question | Correct Answer Partially Correct Answer | Reject Mark
Number

1 (a) ¢ the rule of God in ¢ heaven Answers which 2
AO1 people’s lives ¢ the place a king rules | define a different




Question | Answer Mark
Number

1 (b) Indicative content 4
AO2 Answers which think that serving others is important for Christians

today are likely to use such evidence as:
o it follows the teachings today
e selfishness harms society
e good leaders are those who serve others

Answers which do not think that serving others is important for
Christians today are likely to use such evidence as:

e in today’s world you need to look after yourself first

¢ those who serve others are weak

e those who serve others can be taken advantage of

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. good leaders are those who serve others)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. good leaders are those who serve
others such as Mother Theresa who gave her whole life to
serving others)
2 marks
For a personal response with:
e two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question | Indicative content
Number | The quality of written communication will be assessed in this answer
(strands i, ii and iii)
1 (o) The main ways include:
AO1 e adisciple could be sent away empty handed
e adisciple could be treated badly
e adisciple could be killed
e adisciple could be ridiculed
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 | 1-2 Little understanding of the issue shown, typically by:
e giving a way
= not explaining but only describing the reference
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have some
coherence and will be generally comprehensible, but lack both clarity and
organisation. High incidence of syntactical and/or spelling errors.
Level 2 | 3-4 Basic understanding of the issue is shown typically by:
e using two brief ways
= or a developed way
The candidate is likely to express understanding with a limited command
of English and little use of specialist vocabulary. The range of skills
needed to produce effective writing is likely to be limited. There are likely
to be passages which lack clarity and proper organisation. Frequent
syntactical and/or spelling errors are likely to be present.
Level 3 | 5-6 | A more developed understanding of the issue is shown typically by:
= using three brief ways
« or a fully developed way
* or two ways with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 | 7-8 | A clear understanding of the issue is shown typically by:

= using four brief ways

= or two developed ways

= or three ways with one developed

= or a comprehensive explanation using one way only.

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or spelling
errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

1 (d)
AO2

Indicative content

Reasons for supporting this statement could be:
e Jesus’ disciples teach what Jesus taught
e the disciples show how to trust in Jesus
e the disciples show how to follow Jesus

Reasons for not supporting this statement could be
e the disciples lived two thousand years ago
e it is our parents who show us how to live today
e most people today are not religious

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii) cannot go
beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question 1
(a, b, c,d

Spelling, Punctuation

and Grammar

0 marks

Errors severely hinder the meaning of the response
or candidates do not spell, punctuate or use the rules
of grammar within the context of the demands of the
question.

Threshold
performance

Level 1

1 mark

Candidates spell, punctuate and use the rules of
grammar with reasonable accuracy in the context of
the demands of the question. Any errors do not
hinder meaning in the response. Where required,
they use a limited range of specialist terms
appropriately.

Intermediate
performance

Level 2

2-3
marks

Candidates spell, punctuate and use the rules of
grammar with considerable accuracy and general
control of meaning in the context of the demands of
the question. Where required, they use a good range
of specialist terms with facility.

High
performance

Level 3

4 marks

Candidates spell, punctuate and use the rules of
grammar with consistent accuracy and effective
control of meaning in the context of the demands of
the question. Where required, they use a wide range
of specialist terms adeptly and with precision.




Question | Correct Answer Partially Correct Answer | Reject Mark
Number
2 (a) ¢ (a metaphor used by e a small gate to the e Thepartofa |2
AO1 Jesus to show that) side of the main needle that

wealth makes it gate the thread

difficult to enter the e just quoting the text passes

Kingdom of God e a metaphor used by through

¢ a teaching about the
danger of riches

Any alternative
wording of the above
points is acceptable.

(2

Jesus

Any alternative
wording of the above
points is acceptable.

@

Answers which
define a different
key word
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Question | Answer Mark
Number

2 (b) Indicative content 4
AO2 Answers which think the disciples are good role models are likely to use

such evidence as:
¢ they followed Jesus
e they went out to do the work of Jesus
e they spread the Christian faith

Answers which do not think disciples are good role models are
likely to use such evidence as:

e Judas betrayed Jesus

e the disciples deserted Jesus when he was arrested

o they often lacked faith in Jesus

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. they followed Jesus)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. they followed Jesus which shows
that Christians should have complete faith in Jesus)
2 marks
For a personal response with:
e two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question Indicative content
Number The quality of written communication will be assessed in this answer
(strands i, ii and iii)
2 (©) The main ways include:
AO1 ¢ it shows that disciples are meant to spread the good news
e it shows that Jesus must take first place in the lives of disciples
e it shows that following Jesus requires self-sacrifice
e it shows that they should mix with the outcasts of society
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 1-2 Little understanding of the issue shown, typically by:
= giving a way
= not explaining but only describing the reference
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 3-4 Basic understanding of the issue is shown typically by:
= using two brief ways
* or a developed way
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.
Level 3 5-6 | A more developed understanding of the issue is shown typically by:
= using three brief ways
e or a fully developed way
= or two ways with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 7-8 | A clear understanding of the issue is shown typically by:

= using four brief ways

or two developed ways

= or three ways with one developed

* or a comprehensive explanation using one way only.

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing
in place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question Answer Mark
Number
2 (d) Indicative content
AO2 Reasons for supporting this statement could be:
e society is different
e no-one can be expected to have to give up all their
possessions
e people today have many other commitments
Reasons for not supporting this statement could be:
e people are still the same today
e there are still millions of followers of Jesus
¢ the rewards of discipleship are still relevant
Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must
be sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or
(ii) cannot go beyond 3 marks for the whole of (d).
(i) Own opinion
1 mark for 3
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
¢ three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion
1 mark for
e asimple reason 3

2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason




Question 2
(a, b, c,d

Spelling, Punctuation

and Grammar

0 marks

Errors severely hinder the meaning of the response
or candidates do not spell, punctuate or use the rules
of grammar within the context of the demands of the
question.

Threshold
performance

Level 1

1 mark

Candidates spell, punctuate and use the rules of
grammar with reasonable accuracy in the context of
the demands of the question. Any errors do not
hinder meaning in the response. Where required,
they use a limited range of specialist terms
appropriately.

Intermediate
performance

Level 2

2-3
marks

Candidates spell, punctuate and use the rules of
grammar with considerable accuracy and general
control of meaning in the context of the demands of
the question. Where required, they use a good range
of specialist terms with facility.

High
performance

Level 3

4 marks

Candidates spell, punctuate and use the rules of
grammar with consistent accuracy and effective
control of meaning in the context of the demands of
the question. Where required, they use a wide range
of specialist terms adeptly and with precision.




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

3 (a) ¢ a religious group e a Jewish religious Answers which 2
AO1 whose aim was to group define a different

keep the traditional
Jewish faith alive

e a group which strictly
observed the oral law

Any alternative
wording of the above
points is acceptable.

(2)

e a group which
interpreted the law

Any alternative
wording of the above
points is acceptable.

@

key word

)




Question | Answer Mark
Number

3 (b) Indicative content 4
AO2 Answers which think Jesus was right to heal the man with the

paralysed (shrivelled) hand are likely to use such evidence as:
e because by doing this he was doing good
e it is part of Jesus’ ministry to heal the sick
e good deeds should be done on the Sabbath

Answers which do not think Jesus was right to heal the man with the
paralysed (shrivelled) are likely to use such evidence as:

¢ he broke the laws about working on the Sabbath

e he did it deliberately to antagonise the authorities

e he knew it would cause trouble

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent
to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. it was part of Jesus’ ministry to heal the
sick)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. it was part of Jesus’ ministry to
heal the sick which was part of his work as the Messiah)
2 marks
For a personal response with:
e two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

3 (9
AO1

The main reasons include:

it shows Jesus is the anointed one (Messiah)

it shows that Jesus was prepared for his burial

it shows that Jesus had respect for women

it shows that Christians today should mix with the outcasts of society

Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.

Level

Mark

Descriptor

0

No rewardable material.

Level 1

1-2

Little understanding of the issue shown, typically by:

e giving a brief reason

¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.

Level 2

Basic understanding of the issue is shown typically by:

e using two brief reasons

e or a developed reason.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.

Level 3

5-6

A more developed understanding of the issue is shown typically by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.

Level 4

7-8

A clear understanding of the issue is shown typically by:

e using four brief reasons

e or two developed reasons

e or three reasons with one developed

e or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question | Answer Mark
Number
3 (d) Indicative content
AO2 Reasons for supporting this statement could be:
e Jesus had angered the religious authorities
e he was seen as a threat to the stability of society
e he challenged their ideas of the Messiah
Reasons for not supporting this statement could be:
e he came to change society
e he never set out to antagonise people
o he preached a message of love
Other approaches are possible and must be marked according
to the levels. If you are unsure of the validity of an answer, it
must be sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).
(i) Own opinion 3
1 mark for
e a simple reason
2 marks for
e a developed reason
e Or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion 3

1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

4 (a) ¢ the collection of laws e rules Answers which 2
AO1 handed down by God e an example define a different

and collected in the
Torah

e the Torah

e rules in the Old
Testament

Any alternative
wording of the above
points is acceptable.

(2

Any alternative
wording of the above
points is acceptable.

@

key word

©)




Question | Answer Mark
Number

4 (b) Indicative content 4
AO2 Answers which think that Jesus was right to break the Sabbath

laws are likely to use such evidence as:
¢ the laws Jesus broke were not part of the Ten
Commandments
e meeting people’s needs is more important
e ‘the Sabbath was made for man, not man for the Sabbath’

Answers which do not think that Jesus was right to break the
Sabbath laws are likely to use such evidence as:

e it caused conflict

e it was part of Jewish tradition

e it was setting a bad example to the people

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:
For a personal response with:
e one brief reason (eg ‘the Sabbath was made for man, not
man for the Sabbath’)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (eg ‘the Sabbath was made for
man, not man for the Sabbath’ which means that people’s
needs come before keeping laws)
2 marks
For a personal response with:
e two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

4 ()
AO1

The main reasons include:

e he entered Jerusalem like a king

e the crowd were praising him

e the crowd were giving him Messianic titles

o there was a danger that the Roman soldiers could have intervened
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.

Level

Mark | Descriptor

0 No rewardable material.

Level 1

1-2 Little understanding of the issue shown, typically by:

e giving a brief reason

¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.

Level 2

3-4 Basic understanding of the issue is shown typically by:

e using two brief reasons

e or a developed reason.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.

Level 3

5-6 A more developed understanding of the issue is shown typically by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.

Level 4

7-8 A clear understanding of the issue is shown typically by:

e using four brief reasons

e or two developed reasons

e or three reasons with one developed

e or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question Answer Mark
Number
4 (d) Indicative content
AO2 Reasons for supporting this statement could be:
¢ he had no authority to do this
¢ only God should have done this
¢ he knew it would cause conflict
Reasons for not supporting this statement could be:
¢ Jesus had the authority to do this
e it benefited the man
o it reflected Jesus’ teaching
Other approaches are possible and must be marked according
to the levels. If you are unsure of the validity of an answer, it
must be sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).
(i) Own opinion
1 mark for 3
e asimple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii) Why some people may disagree with their opinion
1 mark for 3

e asimple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

5 (a) e associating e swearing Answers which 2
AO1 oneself with God define a different

e language or
deeds which
insult God

e taking God’s
name in vain

e sSwearing using
God’s name

Any alternative
wording of the above
points is acceptable.

(2

Any alternative
wording of the above
point is acceptable.

@

key word

)




Question | Answer Mark
Number

5 (b) Indicative content 4
AO2 Answers which think the Last Supper has any meaning for today

are likely to use such evidence as:
e it is the origin of the Eucharist (Communion)
e it symbolises Jesus’ death
e it was the beginning of the New Covenant

Answers which do not think the Last Supper has any meaning for
today are likely to use such evidence as:
e it happened nearly two thousand years ago
e it was merely Jesus’ last meal with his followers
e it was a Jewish Passover meal and therefore of no relevance to
Christians

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.qg. it symbolises Jesus’ death)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. it symbolises Jesus’ death
because he died to save everyone)
2 marks
For a personal response with:
¢ two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question | Indicative content
Number | The quality of written communication will be assessed in this answer
(strands i, ii and iii)
5 (c) The main reasons include:
AO1 e it shows that Jesus’ word is trustworthy
e it shows that Jesus is divine
e it shows that his death was not in vain
e it is the foundation of the Christian Church
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 | 1-2 Little understanding of the issue shown, typically by:
e giving a brief reason
¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 | 3-4 Basic understanding of the issue is shown typically by:
e using two brief reasons
e or a developed reason.
The candidate is likely to express understanding with a limited command
of English and little use of specialist vocabulary. The range of skills
needed to produce effective writing is likely to be limited. There are
likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.
Level 3 | 5-6 A more developed understanding of the issue is shown typically by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 | 7-8 A clear understanding of the issue is shown typically by:

e using four brief reasons

e or two developed reasons

e or three reasons with one developed

e or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or spelling
errors may be found. Excellent organisation and planning.




Question | Answer Mark
Number
5 (d) Indicative content
AO2 Reasons for supporting this statement could be:
e his death was why he came to earth
¢ his death was part of God’s plan
¢ he antagonised the Jewish authorities
Reasons for not supporting this statement could be:
¢ he did nothing to deserve his death
¢ his death stopped him from performing miracles
e it stopped him from teaching his disciples
Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must
be sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or
(ii) cannot go beyond 3 marks for the whole of (d).
(i) Own opinion
1 mark for 3
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion
1 mark for 3

e a simple reason
2 marks for
e a developed reason
e Oor two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

6 (a) e the last meal e a Passover meal | Answers which 2
AO1 Jesus ate with his ¢ when Jesus ate define a different

disciples (which
founded the
Eucharist)

e the origin of
Communion

e the first Mass

e where Jesus
predicted his
betrayal

Any alternative
wording of the above
points is acceptable.

(2)

with his disciples

Any alternative
wording of the above
point is acceptable.

@

key word

©)




Question | Answer Mark
Number

6 (b) Indicative content 4
AO2 Answers which think the crucifixion of Jesus had to happen are

likely to use such reasons as:
o it was part of God’s plan of salvation
e without it there would have been no resurrection
e Jesus was considered dangerous by the authorities

Answers which do not think the crucifixion of Jesus had to happen
are likely to use such reasons as:
e another way could have been found for people’s salvation
e Jesus had done nothing to merit death
e Jesus could have continued to do good

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
one brief reason (e.g. it was part of God’s plan of salvation)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. it was part of God’s plan of
salvation because Jesus had to die to save people from their
sins)
2 marks
For a personal response with:
¢ two reasons with one developed 3 marks
For a personal response with:
o two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

6 (c)
AO1

The main reasons include:

some Christians believe Judas was a traitor

some Christians believe Judas was greedy

some Christians believe Judas helped fulfil God’s plan
some Christians believe he was politically motivated

Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.

Level

Mark

Descriptor

0

No rewardable material.

Level 1

1-2

Little understanding of the issue shown, typically by:

e giving a brief reason

¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.

Level 2

Basic understanding of the issue is shown typically by:

e using two brief reasons

e or a developed reason.
The candidate is likely to express understanding with a limited command
of English and little use of specialist vocabulary. The range of skills
needed to produce effective writing is likely to be limited. There are
likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.

Level 3

5-6

A more developed understanding of the issue is shown typically by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.

Level 4

7-8

A clear understanding of the issue is shown typically by:

e using four brief reasons

e or two developed reasons

e or three reasons with one developed

e or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or spelling
errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

6 (d)
AO2

Indicative content
Reasons for supporting this statement could be:
e it is the basis of Christianity
e there were witnesses to the resurrection
e Jesus foretold that he would rise from the dead

Reasons for not supporting this statement could be
e they are still Christians if they follow his teachings
e some Christians do not believe in the physical
resurrection
e the resurrection is scientifically impossible

Other approaches are possible and must be marked according
to the levels. If you are unsure of the validity of an answer, it
must be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

7 (a) ¢ a miracle in which ¢ something which | Answers which 2
AO1 Jesus shows his power breaks the laws define a different

over nature
e a miracle where
nature is changed

Any alternative
wording of the above
points is acceptable.

(2

of science
e an example

Any alternative
wording of the above
points is acceptable.

@

key word

©)




Question | Answer Mark
Number

7 (b) Indicative content 4
AO2 Answers which think the raising of Jairus’ daughter causes problems for

Christians today are likely to use such reasons as:
e it is impossible for the dead to rise
¢ she might have been in a coma
e Jesus told people to keep it secret

Answers which do not think the raising of Jairus’ daughter causes
problems for Christians today are likely to use such reasons as:

e Mark reports it as an historical event

e Jesus had the power to raise the dead

e Jesus is God

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. Jesus had the power to raise the dead)
1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. Jesus had the power to raise the
dead which shows Jesus is the Messiah)
2 marks
For a personal response with:
e two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

7 (©) The main features include:
AO1 e Jesus has power over evil
e it shows the divinity of Jesus
e it shows Jesus as Messiah
e Jesus shows concern for the physical needs of Legion
Credit must also be given for any material given from the story of the healing of
the woman with bleeding for twelve years.
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark Descriptor
0 No rewardable material.
Level 1 | 1-2 Little understanding of the issue shown, typically by:
e giving a brief feature
¢ not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have
some coherence and will be generally comprehensible, but lack both
clarity and organisation. High incidence of syntactical and/or spelling
errors.
Level 2 | 3-4 Basic understanding of the issue is shown typically by:
e using two brief features
e or a developed feature.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The range of
skills needed to produce effective writing is likely to be limited. There
are likely to be passages which lack clarity and proper organisation.
Frequent syntactical and/or spelling errors are likely to be present.
Level 3 | 5-6 A more developed understanding of the issue is shown typically by:
e using three brief features
e or a fully developed feature
¢ or two features with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 | 7-8 A clear understanding of the issue is shown typically by:

e using four brief features

e or two developed features

e or three features with one developed

e or a comprehensive explanation using one feature only.
The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing
in place. Good organisation and clarity. Very few syntactical and/or
spelling errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

7 (d)
AO2

Indicative content
Reasons for supporting this statement could be:
e the voice from heaven said he was
¢ the healing miracles prove he was
e the centurion said he was at the crucifixion

Reasons for not supporting this statement could be:
e he was just a religious teacher
e God does not exist therefore Jesus cannot be his son
e Jesus never said he was

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii) cannot go
beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii) Why some people may disagree with their opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e Or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason




Question | Correct Answer Partially Correct Answer | Reject Mark
Number

8 (a) ¢ (confessing sins and) a religious ceremony Answers which 2
AO1 being immersed in ceremonial washing define a different

water as a sign of
purification
e an initiation ceremony
¢ the first sacrament

Any alternative
wording of the above
points is acceptable.

(2)

a sacrament
an example
washing away of sin

Any alternative
wording of the above
points is acceptable.

@

key word

©)




Question | Answer Mark
Number

8 (b) Indicative content 4
AO2

Answers which think Jesus performed miracles are likely to use such
evidence as:

e there are many examples reported in the Gospel

e Jesus would have the power to do this

e it is part of the identity of Jesus

Answers which do not think Jesus performed miracles are likely to use
such evidence as:
e Christians can believe in the teaching of Jesus without believing
in the healings
e the healing miracles are not scientifically possible
e there are alternative explanations to the healing miracles

Other approaches are possible and must be marked according to
the levels. If you are unsure of the validity of an answer, it must be
sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. Jesus is divine) 1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. Jesus is divine and therefore
can do anything because God is almighty)
2 marks
For a personal response with:
e two reasons with one developed 3 marks
For a personal response with:
e two developed reasons 4 marks




Question
Number

Indicative content
The quality of written communication will be assessed in this answer
(strands i, ii and iii)

8 (©) The main features include:
AO1 e Jesus is the Son of God
e Jesus has power over nature
e Jesus cares for his followers
e Jesus had complete trust in God
Other approaches are possible and must be marked according to the levels. If
you are unsure of the validity of an answer, it must be sent to review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 | 1-2 Little understanding of the issue shown, typically by:
e giving a feature
= not explaining but only describing the reference
The answer is likely to be in basic English. The skills needed to produce
effective writing will not normally be present. The writing may have some
coherence and will be generally comprehensible, but lack both clarity and
organisation. High incidence of syntactical and/or spelling errors.
Level 2 | 3-4 Basic understanding of the issue is shown typically by:
= using two brief features
= or a developed feature
The candidate is likely to express understanding with a limited command
of English and little use of specialist vocabulary. The range of skills
needed to produce effective writing is likely to be limited. There are likely
to be passages which lack clarity and proper organisation. Frequent
syntactical and/or spelling errors are likely to be present.
Level 3 | 5-6 | A more developed understanding of the issue is shown typically by:
= using three brief features
« or a fully developed feature
= or two features with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective extended
writing but there will be lapses in organisation. Some syntactical and/or
spelling errors are likely to be present.
Level 4 | 7-8 | A clear understanding of the issue is shown typically by:

= using four brief features

= or two developed features

= or three ways with one developed

= or a comprehensive explanation using one feature only.

The candidate is likely to express understanding in a clear and correct
style of English with a correct use of specialist vocabulary where
appropriate. The skills needed to produce convincing extended writing in
place. Good organisation and clarity. Very few syntactical and/or spelling
errors may be found. Excellent organisation and planning.




Question
Number

Answer

Mark

8 (d)
AO2

Indicative content
Reasons for supporting this statement could be:
e Jesus is divine
e Jesus had the spirit of God within him
e there is no other explanation for such incidents

Reasons for not supporting this statement could be:
e miracles are scientifically impossible
e only God can perform miracles
e Jesus was just an ordinary man

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii) cannot go
beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(ii)) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
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